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o 2 & erall ot 4,632,471 4,360,305 272,166
2 28,800 28,800 0
X 870,000 870,000 0
= 187,640 187,640 0
Al 3,546,031 3,273,865 272,166
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FOEAAS TN Y ISHLE 939,747 816,384 123,363
gorgxael 700,435 600,435 100,000
401 NEHIL2THYI 650,000 550,000 100,000
01 A&yl 644,960 545,680 99,280
O Z35 2% FAH2H £
2E 496,400,000% 496,400 397, 120 99,280
03 A& 2 TH I 5,040 4,320 720
O Z35 2% FAH2H £
23 3,600,000% 3,600 2,880 720
HYZR ALl L 29 219,571 196,208 23,363
101 01248 36,457 23,004 3,363
YSIEEEPETPS 36,457 23,004 13,363
O HYZH AaSRe L H4 212y 13,363 0 3,363
o J=2a 51,7609 * 42 * 52 * 0% 10,352 0 10,352
o Fxag 51,7602 * 4% * 10% 2,071 0 2,071
o MalZEE 940,0008 * 14] 940 0 940
201 Yer2 | 63,054 53,054 10,000
02 2Bl 47,386 37,386 10,000
O NEFHRHI 20,386 10,386 10,000
o HYTH AL suE
2E 20,000,0002 20,000 0,000 10,000
WA TAl SH(SHHSLM/HLLL - O F) 1,847,002 1,777,002 70,000
2 28,800 28,800 0
< 187,640 187,640 0
Al 1,630,652 1,560,652 70,000
HYAMAZ= A2y BH3 486,870 416,870 70,000
A5QENU 29 U 22 454,150 384, 150 70,000
401 NEHIL 2 THYI 370,000 300,000 70,000
01 Al bl 367,192 297,696 69,496
O ASQENL FAE RSAE &X
AH 287,912,0008 287,912 218,416 69,496
03 A& S THHI 2,808 2,304 504
O ASQENL FAE REAE &X
23 2,088,000% 2,088 1,584 504
GO (BB S /HY) 1,397,958 1,357,958 40,000
X 870,000 870,000 0
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